


Minor - banker relations,

‘When can a banker dishonour cheques?.

800557

. EXIM bank functions

. Explain the functions of commercial banks

i oyt o> 300




7. What is a Query? How to create a Query?

. How to create reports in Ms-Access?

- Ms-Access & 6am0 Jer 85565 Sohenn?




10. i




(3%02COA15)

B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATIO'N, NOVEM_EBR 2016.
(Exam'matiofx at the ehd_ of Thjrd Semester) |
Part II.-— Co_mi)uter Applications
* CORPORATE ACCOUNTING
(Regulation 2015-2016)

i

‘Time : Three hours _ _ Maximum : 75 marks
| SECTION A — (5 x 5 = 25 marks) |

Answer any FIVE of_ the following questions;'

"1. Whatis forféitu.re of shares?

T 2 WRTRI?

9. List the advantages of Book-building system.
298 DR SES HRIERT O HBBOHIN.

3. Explam the merits and demerits of Rights issue.

i, 0 8 orasdipedy 9980HIN.
4.  Sources of Bonus issue.

5555 288 Ko SdGe.
5. Whatis meant by Debenture? Explain different %inds of debentures.

EBoDK WHTI? DD B5°0 GBoBFRL K8) DHBoPHa0.

6. Need for valuation of goodwill.

- &S Sorergeld esﬁéééé.

7. State the factors that afféct valuation-of shares.

TETO) DO g&ge&e‘f’ {}.’aeg?:)éo 3% eoTsd?

8.  Define B_uy-back; Explain its advantages.

| @BR SRt DEGD0DE0. T HETETOR IHBOHIN.




10.

- SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
. UNITI

Suresh conipany Ltd offered 20,000 equity shares of Rs.20 each at a discount of 5% payable

as follows : . . S
Rs.

on application 6 -

on alldtment 8

on call 5

The applications received were for 16000 shares. All the money was duly received. Pass

necessary entries in the journal of the company. Also show how these transactions would
appear in the Balance Sheet of the company. :

Q0B8R oD Toer 1 & 20 Dens HORS 20,000 é’-s%ogeg TFOR 5% Gdm 0t5E® 28 32 808 BrDD
T0T0S" 3P0 HEB Bocs 55 g S6oa. :

. BETRE &, 6, BaranoDHE® K 8 Dess) . 5 wb B2 Teres® 16000 srEh Som

Bo0od.  ef,) TovTO  Hocs aﬁvﬁp&‘éWm ©00008. DT Sbeo @R B8R @5pe S8
BArEBo08. | | '

‘The Balance Sheet of 4’ Ltd as on 31.12.2015 is given below :

Liabilities _ Rs. Assets | Rs.
Authorised capital ‘ ' : Fixed Assets 15,00,000
1,00,000_equity shares of Rs.10 each 10,00,000 Current assets  5,00,000
1,00,000 equity shares of Rs.10 each :

Rs.7.50 per share 7,50,000
Paid up ' ' .
General Reserve 4,00,000
Securities premium reserve 2,00,000
Profit and Loss account 2,50,000
Creditors o . . . 4,00,000 _
' 20,00,000 20,00,000

The company decided to make partly paid shares fully paid out of P&L account. It was also
decided to issue one fully paid bonus share for every two shares held and for this purpose the
securities premium reserve was to be fully used first and later General Reserve. Give ]purnal
entries for the above. ‘

A OBE T8 e wpo 5§ 31.12.2015 % 808 3o Hod :
ogped 7 &oe T eRow &
088 Saredsso , - RWekew  15,00,000
&. 10 005 0 1,00,000 Sefgd e 1,00,000 (53598 esiigen ~ 5,00,000
&m0 260 #0'1,00,000 Sl Treres |

2 o (3*02COA15)
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12.

Ter 1 86, 7.50 30odss 7,50,000

Deryises Bestig : o 4,00,000
TR [H20CH0 7 | 2,00,000
| o dpo e | 2,50,000
| avomtes | 4,00,000 |
' 20,00,000 - 20,00,000

| o g0 26 deg oo, SFForr Do o T BYSD BT BaLITHo 58650

8 B0t TereX) 2.8 FOD T aNEBRo. S DORY 5BV oaéagmfog T La:)ooias.) arw:éo |
B85 DDA DoBo Aegrdses Bastiglo IDBIROBIBH).

D DFATe @Roentd derbihes B &3 ©po 5e§;°o BOIr SR,
UNIT II

Journalise the following transactions at the time of issue and redemption of Debentures.

(a) A debenture issued at Rs.95, repayable at Rs.100

(b) A debenture’ issued at Rs.95, repayable at Rs.105
{¢) A debenture issued at Rs.100, repayable at Rs.105

‘(d) A debenture issued at Rs.105, repayable at Rs 100.

[_§ot’;3 SgdFoeois 28 $0B010 JBIDY SoSE0S” R DeFHEeN g.seotiao&

(@ & 100 % 3050 B Doz Hris GBS0 5. 95 & &b Fhideond

B & 105% TBrw50 B Domen ois EBoSBs 8. 95 & =8 ) Bdisescnsd

© &~ 105% 233590 Bt Do Bats GBOBE &, 100 8 206 Bes00

@ ci;w 105 0% 28 B &r. 100 0H 20531{3:)0 3‘\3:&@@@

- Mé&Ceo. Ltd issued 5000 debentures of Rs.100 each at a premium of 10% repayable par-at the
end of 5% year. The debentures were payable 20% on application, 40% on allotment’

(including premium) and the balance on first and final call. All the moneys were received by

the company in due course. You are asked to journalise the above transactions in the books of
the company.

M&Co. Ltd. 8. 100 esd Ko 5000 &Bougo 5 oaotééﬁowoémzf) 10% Haocfost &50;56
;‘xmergo& 1208 Do énmen 3@0&
EBoBE Ssgrin 20%

Bera00HD 40% (H0H0E" ¥0D)
2REVE &9, 836 DD HODT

oy Tomo iy Hiro0s. SRS DezBEOR0 o0,

[~

s  (3*02COA15)




UNIT I

13. The following is the Balance Sheet of Raﬁu Co. Ltd. as on.31.12.2015

Liabilities Rs. . Assets Rs.

5000 equity shares of Rs.100 each fully paid 5,00,000 Goodwill ' 60,000

1000 8% preference shares of Rs.100 each  1,00,000 Land and Buildings  2,00,000

General Reserve o \ ' ~ 40,000 Machinery ' , 1,50,000

Profit and Loss account = : 20,000 Furniture - ~ 30,000
Bank loan | 40,000 Stock 1,20,000

Sundry creditors : , 20,000 Sundry debtors 90,000

: | : :  Cash at bank ~ 60,000

Préliminary expenses 10,000

7,20,000 . 7,20,000

The value of assets is assessed as follows :

Goodwill Rs.70,000, Machinery Rs.1,76,000, Land and Buildings Rs.2,25000, Stock
Rs.1,30,000, Furniture to be depreciated at 10% and debtors are expected.to realise 80% of
book vaiue. : .

Find out the value of equity share. _
31.12.2018 % Tar 5020 S20BE 76 &) @y 563 Bod o &od.

eRpey ‘ &, cedoey &,
5,000 $683 Trere0 287,563 & 100 2% KR SrGre 3o #6RSE  5,00,000 0808 - 60,000
1,000 8% 88550 Tares 257,5,85 100 dess Koo \ | 1,00,000 4 5oBcs0 g5 2,00,000
arisen Bastig - _— 40,000 ctopres 1,50,000
P Sapo g5 ’ ‘ | | _ 20,000 . :)801:560 320,000 -
e , 40,000 S%% | 1,20,000
N | - 20000 avepkos 90,000
| ‘ | st 60,000
' @oqsaag i@ ) 10,000
720,000 . 720000

- @800 (808 agom agbf{eg;do :

&S & 70,000, Shomes &e. 1,76,000, 8075, eismren 8. 2,25,000 58 &, 1,30,000,
5B 10% B0 Frard. amepiioe DIED DeudS® B0% Skirven SHEeon.

o563 T e 80P

4 | (302C0A15)



14. A business concern had earned profits for the past 3 years as follows :

Rs.
2011 50,000
2012 60,000
2013 70,000

Average cap1tal employed in the busmess Rs 40,000. Reasonable rate of return expected in a
similar business 10% -

From the above, calculate the value of g‘oodwi]l under 7
(a) 2 years purchase of the average Profit of last 3 years _
(b) 4 years purchase of super profits on the basis of average profits of 3 years.
1 3 Sone 28 Ty $503 1508 ergren AGodRE : -
o |

2011 50,000

2012 60,000
2013 70,000

20RO eSS0 &7 40,000

s B3y e 10% ‘
D 95T0S° HEISK BY0808 : _
(@) K53 é’oééfl{)ve) S erdfo esgrBore 2 Hon §uR ooy -fb&z)egm PDOBOC
®) 3 Bostyre oS5 o250 4 SoRterss HEDS™ .;’J'w;’)_m B0 0.

UNIT v .
i5. Prepare Balance Sheet of Spandana company Litd as on 31 3.2012
‘ Debit balances "Rs. Credit balances - Res.
- Calls in artears ~ 5,000 Share capital ) 2,50,000
Furniture 15,390 General Reserve 15,000
Plant and Machinery 68,425 Loan from MD. - 18,000
Closing stock. - 91,500 7 Outstanding : _ )
Sundry debtors 3,800 Wages 5,200
Cashatbank 1,39,700 Salaries 1,200
Prepaid insurance 1,680 Rent ' : 600
 Sundry creditors ‘_ 4,000
" Profit and Loss account (1.4.2011) - 12,000
‘Net profit a 21,495
3,25,495 S 3,25,495
Additional information :

(2) * Proposed dividend Rs.9,000 to be provided
(®) Transfer to-General Reserve Rs.6,000
- (©) Ignore cdrporate dividend tax.

5 (3*02COA15)
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aoSvegeo | &
2V WS | : 5,000
6,5 5380
ooy 68,425
o S 91,500
avompisey |- " 3,800
o . | 139700

Sooosore BYod Hsm 1,680

oS So2b S2:BE 31.3.2012 w63 BoB 950 HFW0E® & eifpe 56§ BArEBHOE.

B&eS :Ooogeb &,

e Sarecsso 250,000
Sotties Bsisg L 15,000
M.D. £0& &3y . 16,000
25‘:3,6:5:5@?9:)3}: |

e | 5,200
Soen ) 1,200
op | 600

'Q |

Q0ETHO0 4,000

&Y daxo g;:;ve:gv (1.4.2011) 12,000

‘ DES ersio mppe— .21,495

. 3,25,495

OEE) SArTEe

(@) 89Bogs Some . 9,000

(b)  cres Bastgd 590D &, 6,000

©  SENBES Botiocks Sy - 23BoRR.

Following is the Trial Balance .of Lakshmi Co. Ltd as at 31st ‘March,. _2016 o

3,25,495

Rs. Rs.
Stock, 31t March 2015 75,000 .
Sales | 3,50,000
Purchases 2,45,000
Wages - 50,000
- Discount -' 5,000
. Furniture and fittings 17,000
Salaries 7,500
Rent 4:,95;0‘
Sundry expenses 7,050

Surplus a/c 315t March, 2015 15,030

6 . (3*02COA15)



Dividends paid 7 9.000

Share capital ' 1,00,000

Debtors and creditors = 37,500 17,500
. Plant and Machinery 29,00.0

Cash and bank 16,200 _

Reserve 15,500 '

Patents and Trade mark 4,830

5,03,030 - 5,038,030

Prepare statement of Profit and Loss for the year ended 315t March,2016 Balance Sheet as at
that date. Take into conmderatlon the following adjustments :

(a)
(b
(©
Gy

Stock on 315t March, 2016 was valued at Rs.82,000

Depreciation on fixed assets @ 10%

Make a provision for 1ncome-tax @ 50%

Ignore corporate dividend tax.

&s 1508 woksr Lwod enéé Eoud &Boo¥), @3526.%@ :0363§ =) eacoop@ mé:) 31.3.2016 a“e3§
HASTSRahod.

Srey &oe. Y.

5% 31.8.2015 - 15,000

| esyEer | . 8,50,000 -
SRR ! 2,45,000
Dearen 50,000
a5 ) LT
838 B0Bax igoﬁ S 17,000
Seres | | 7500

: @5‘ | o - 4,950

A | .
208 PERLO . L7050

| 31.3.2015 w8 i@ S - 15,030
33Boc 3YoD) | 9.000
;;w'méag;ém B _ - 1,00,000

 anonaptiioes o8ak aecres, 87500 17,500 |
7 | | (3*02COA15)
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18.

0L Bo80%0 afo|Iey | 29,000

SKE> S0B080 o8> 16,200°
Bastiog o 15,500 _
Doy, [BE Setoyen - 4,830

5,038,030 5,038,030

E2Ted) ¢
o %

(a) 31.3.2016 783 $HE Jeud & 82,000

-0

b)  Roep S80S 10%

© Swohd S8y done 50%
@ 56550 Godoc: Sy - D9 BoBS.
 UNITV

Explain the important provisions of Companies Act 2013, in respect of issue of shares.

Tere B8 SowoBod Sonde B40 2013 5% Swaly DR0SSER DIBOHI®.

Give the Balance Sheet (Part-I) proforma under Compénies Act 2013. .
¥onde Hg0 2013 S° 39S HHoTD e epe 5e§ Part-D D BIH08. i

. s - ~ (3*02COA15)
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B.Com:. (Gen/Res) DEGREE (CBCS) EXAMINATION, NOVEMBER 2016.
(Examination a_t thé end of Third Semester)
| Part 11 : Computer Applications
BUSINESS STATISTICS
_ (Regulation 2015-2016)
Time : Three hours . A : Maximum : 75 marks

SECTION A — (5 x 5 = 25 marks)
Answer any FIVE of the foﬂowmg questlons

1.  Write the importance of statistics.

Kew08 B3 [Fra0PgBan po‘.innn.

2. Explain the objectives of Tabulation.

5§88 edmsoto 9580HB0.

3.  What are the properties of dispersion?

D38es OFeTod DD?

" 4. Write the merits of standafd deviation.

PR0RRE DWOdH0 M), (HEIETres @Rauin.

N

5.  Write the comparison between correlation and regression.

‘é“ DO, HSHDRH0e :i>¢55 DT po‘iaozéao

6. . Writé the uses of Index numbers.

SD Jogge HRTETLL pvo‘inan.'

7. Explain the use of computer software in statistics.

Kemo¥ T8 Sogryb 256 S BEB (SHrEess 56050,

3. What is skewness‘? Write its ob;ects

Dogdn eaRSnvEsm’) o SRT5O @vo‘inm
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(2)

®

(@)

®)

SECTION B — (5 x 10 = 50 marks)

Answer ONE from e_ach unit.
"UNIT I '

‘What is secondary data? What are its sources?

Expenditure :
SHgaioren

Raw material
D0 B
Wages 7

B

Direct e'x-penses'
(5B¥ Dgosren
Indirect expenses
SEg e

" Total expenditure

Iiné_fgo ‘.ﬁegoﬁoo

F (Number of persons) : 8
50 o '

Bo08g/ (550080 BE,OHDN
Weight (Kgs) :
259 (LS

Frequency 14
(3%3@550)

Or

Draw percentage bar diagram with the folldwing data.

Se 508 Gerd ToEre 270 S0 Aakubdn

BGBOD $Em0EE BHTHN? Bedoh SBros SHHed Beyod.

20

Calculate mode to the given data.

RS ST o8 2ot Head DoKonn
- X (Height} :
28

K’ unit Y unit Z unit
x :)a)“ffq Y oo /(e
20 40 25
.10 10 10
3 5 10
2 5 -5
35 60 50
JUNIT II
150 155 156 157 158 159 160
18 20 38 10 8 6
Or

Calculate Median to the given data.

49

54

10-19- 20-29 30-39 40-49 50-59 60-69 70-79
45 18 7

(3*02BST15)
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12.

13.

(a)

®)

(a)

(b)

(2

UNIT I -

Calculate standard deviation for the following data.

S B0B Grers® ETeds DdeDH0 ERTHomw

X: 0-10 10-20 20-30 8040 40-50 50-60
F: 15 17 19 o7 19 12
Or
From the following data calculate Karl Pearson’s coefficient of skewness.

$S DADHES Do H2Es0D0 B,05050.

Ageinyears:  10-20 20-30 30-40 40-50 50-60
Ay BosE TS '
No of persons : 18 120 30 22 10
D500 Hogy

UNITIV

- Compute Rank correlation from the following data. (Spearman’s method).

OGRS 08 Ferdonod K880 B oHI

X: 415 434 .-420 430 424 428
Y: 330 332 328 331 8327 325
Or |

Find two Regression eqﬁations based on least square method.

| 5035000 SESS® Bo [SHKD HD0¥SEroDd E55%,08.

x: 10 20 30 40 50 60
¥: 40 8C 60 120 100 150 -
"UNITV
Fita _sfraight line trend by the least square ;_nethod to the following data.

505 Sore LS toe S8BT 59)80 8,090,

Year : - :2005 2006 2007 2008 2009 2010

SoSthso

Production: 75 83 106 129 134 148 -
&8 Bo wines®) '

| o

3 ] - (3*02BST15)



)

Calculate Flsher s ideal index from the data given below and show that it satisfies the

time reversal and factor Reversal test.

PT8 e85k Smd SowgHr B8 ;00 S0 HBIED asg, SESStY 08:’)6:6 aéi Sodd BoBHED Kerd

BDofoB.

Coxﬁmo_dity Price Quantity

50D 58 58557290

2014 2015 2014 2015 . .

A 10 12 12 15

B T 15 5 .20

C 5 24 9 20

D 3 B /0 0™
4
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